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X -0.08,-0.065,-0.05,-0.03,-0.015,0,0.015,0.03,0.05,0.065,0.08
y 20.260,19.726,19.502,18.727,18.588,18.123,18.592,18.884,19.545,19.887,20.991
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Variable x,y;

Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;

Data;

x=-0.08,-0.065,-0.05,-0.03,-0.015,0,0.015,0.03,0.05,0.065,0.08;
y=20.260,19.726,19.502,18.727,18.588,18.123,18.592,18.884,19.545,19.887,20.991;

fR3AY 13-2:

Variable x,y;
Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;
Data;

Xy

-0.08 20.260
-0.065 19.726
-0.05 19.502
-0.03 18.727
-0.015 18.588
0 18.123
0.01518.592

0.03 18.884

0.05 19.545




0.06519.887
0.08 20.991
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Min. Z(((bl (x—by)* +by (x—b,) +bg) - }1)2)

A 13-3:

(13-2)

ConstStr f=b1*(x-b2)"4+b3*(x-b4)"2+b5;

Constant

x=[-0.08,-0.065,-0.05,-0.03,-0.015,0,0.015,0.03,0.05,0.065,0.08],
y=[20.260,19.726,19.502,18.727,18.588,18.123,18.592,18.884,19.545,19.887,20.991];
Plot x[x],y.f;

MinFunction Sum(x,y)(sqr(f-y));

1247 b = BACRS AR AT AAS 2 [F 45 R .

@ 1stOpt - [C:\MyApp\1stOpt 9.0\prob.mff] — [m]
Xt w8 BF IR IRE (Bx =

M| oz #8%K 7 - [prob.ntt]

D& W B HEEE

X

> P = | Bsw e
Xt | B | X@a /
RN x o
[ co_paper_curvefitti... 20 ’
[ Baron-Test. nff R 3
[ Baron-Test-2. m£f :
[ untitledt. mef e 2
[ nihe.mfE 19 _
[ Wist Average.mff g
@ prob.nff

At R

AR x
[E)1 - CodeBlock [5] ~
©2 - CodeBlock [16]

| $9752 (RMSE): 0.141234695309987

ERHAGOFFREERFE

>

[E)3 - CodeBlock [8]
B4 - 1st0pt EAHERMR. ..
5 - 1st0pt EAEEM. ..
Els - 1st0pt ESEHER. ..
B7 - 1stopt BAHHER.

BEFHM(SSK): 0.219419630762352

HHEFRH(R): 0.984810090029115 |
BEFRHZ T (R2): 0.969850913423154

fZIERFF (Adj. R'2): 0.962313641778943

WERAN(0C): 0.969850913423154

£73 58 (Chi-Square): 0.00574474160504188

P&t (F-Statistic): 48. 2527510871112

Es - 1st0pt ESEHRMR. ..
[E9 - DevilliersGlasse. ..
(510 - CodeBlock [3]
Bt - Codlock [0 rateotmraes
@12 - CodaBlock [3] b3 451. 843129314639
()13 - CodeBlock [3] v ||pg 0.0012359920091384
©= 1 8 X b5 18. 39737579045

Ealllocp EIRCEIER

s HiEEH

K 13-1. AL RKE
EIRER

)77 ZRMSE): 0.141234695309986

B 22FJ7 FI(SSR): 0.21941963075235

A ZH(R): 0.984810090029115

AR BB P J7 (RM2): 0.969850913423154
EIE R “FJ7(Adj. R*2): 0.962313641778943
T 5E Z2F(DC): 0.969850913423154

77 Z%(Chi-Square): 0.00574474160401383
F 4t it (F-Statistic): 48.2527510884866

SR RAEA
bl -15064.5797919747




b2  0.0130731392885844
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Variable x,y;
Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;
DataFile "ExcelTest.xIsx[Sheet1 [A2:B12]]";
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ConstStr f=b1*(x-b2)"4+b3*(x-b4)"2+b5;

Constant x="ExcelTest.xlsx[Sheet2[B1:L1]]",
y="ExcelTest.xIsx[Sheet2[B2:L2]]";

Plot x[x],y.f;

MinFunction Sum(x,y)(sqr(f-y));
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HH(F) 4R4E(E) #8=0(0) EH(V) #EN(H)
-0.08 20.260
-0.065 19.726
-0.05 19.502
-0.03 18.727
-0.015 18.588
0.015 18.592
0.03 18.884
0.05 19.545
0.065 19.887
0.08 20.991
0 18.123

K 13-4, “axt “HE 1t



| Test - iIBFA - O X
XAH(F) 4RIB(E) #80(0) BE(V) #BI(H)
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0.015,18.592

0.03,18.884

0.05,19.545

0.065,19.887

0.08,20.991

K 13-5. “.csv “HIE At

@ 1stOptEBFFIE - [C\MyApp\1stOpt 9.0\Test.ssf] - O
XiE WE K8 B 1B &Kitsir
DE-WH {2RBR| L/ A-D- R~ B ] v
BLEBLR 3T >Y X
[D Bae ¢+ 4 A B & D E
1 "
- Dgses:::? 2 -0.08 20.260
[ Sheet? 3 |-0.065 19.726
[ Sheet3 4 |-00s 19.502
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7 (0.015 18.592
8 [0.03 18.884
9 10.05 19.545
10 |0.065 19.887
11 |0.08 20.991
12 |0 18.123
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Sheet1: Cell[0,0] - [A1 = x]
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Variable x,y;
Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;
DataFile "Test.txt";

“ssf “EIE AT S Excel A& T X —EL
R 13-7

Variable x,y;
Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;
DataFile "Test.ssf[Sheet1[A2:B12]]";
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Variable x,y;
Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;
DataFile "Sheetl[A2:B12]";
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Variable x,y;
Function y=b1*(x-b2)"4+b3*(x-b4)"2+b5;
DataFile "CodeSheet1[A2:B12]";
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CVA1 C=2557, N=10, W=[ 986 589 848 314 255 905 435 607 979 749], P=[675
233 95 576 495 625 509 544 904 548], —FhRAFALUI T

L% 13-10

Algorithm = LP;
Constant C=2557, N=10;

Constant W=[986 589 848 314 255 905 435 607 979 749],
P=[675 233 95 576 495 625 509 544 904 548];

BinParameter X(N);
MaxFunction Sum(i=1:N,P,X)(X*P);
Sum(i=1:N,W,X)(X*W)<=C;

ETii /2 N=10 14N B 0-1 A R R 4GRS, 4R N=10,20,50,100...1000
Z MG, BEINZ AT R A7 HOE I RE PRI T SR AR 2 f —FhiE L T w5 — B
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986 589 848 314 255 905 435 607 979 749
675 233 95 576 495 625 509 544 904 548
2557

RS 13-11:

Algorithm = LP;
Constant N =" D:\Mytest\kp10.txt[1]";

Constant W(N) =" D:\Mytest\kp10.txt[2]";

Constant P(N) =" D:\Mytest\kp10.txt[3]";
Constant C =" D:\Mytest\kp10.txt[4]";
BinParameter X(N);




MaxFunction Sum(i=1:N,P,X)(P*X);
Sum(i=1:N,W,X)(W*X) <= C;
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